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ECE 3455

Quiz #4

 March 26, 2002

1.  This quiz is closed book, closed notes.

2.  Show all work necessary to complete the problem on these pages.  If you go on to another page, indicate clearly where your work can be found.  A solution without the work shown will receive no credit.

3.  Show all units in expressions and figures.

4.  You will have 30 minutes to work on this quiz.

________________/50

 [image: image1.png]The diodes in the circuit below can be modeled using the piecewise linear model
with Is = 0, = 0, and Vﬂ] =0.6/V/.

a) Find i when R = 60 /€Y.
b) Find i when R =20 /<.
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b) wih R< 4o 2, Y wel be positive so we

will guess D3 & now on.
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